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1. Study of all the proteins coded by the genome is 1. 3t gRT 1SS T SCHHI 1
' ‘ : - a) AL . (b) :
called : (a) S
(a) Protein LMProteomicsb (c) M (d) IR : :
(c) Genome (d) All of the above 0 3 & B J '
2. -Genabankis: (a) @i £10 U0 ©0 3 W @1 FU THE e
omplete collection of clone DNA fragmgnts iy W i o <Rl T s
which comprises entire genome of organism , g . 3
i i b) 571 & €10 THO BO/3RO B0 U0 &1 THE
(b) Collection of DNA/RNA of organism (b) STId © E
(c) Collection of enzymatic proteins in bank CEGE:] m‘:ﬁﬁﬁ ﬁlﬂ-‘-! B TYE
(d) None of the above : " (d) IR H ¥ BIg AT
3. Plasmidis: . 3 ifsHE 8-
- (a) Circular DNA molecule Y (2) T £10 THO-TO 3]
(b) Linear DNA molecule ‘ (b) & S0 T0 T0 3]
Circular double stranded DNA molecule ) - '
(d) Al of the above | (o) 99 fexoaet S0 0 B0 3
4. EcoRI, Hind Il and Bam H1 are the types of : (d) IRIET TqHT _ '
\_(syRestriction endonuclease | 4. EcoRI, Hind Ill 3iR Bam H1 f&as maR &2
(b) Restriction exonuclease R (@) i‘ﬁ:s(rag]:{ Evgﬁw{%aua '
(c) Restriction polymerase  (b) iﬁi’(‘cﬂﬁ mw
(d) None of the above % © m ST
5. SCP stand for : ' _ : z AN
(a) Spirulina cell protein B (d) IR H J B el
ingle cell protein =~ : 5. TH. 1. @, F arf -
(c) Sexual cell protein (a) BTSN DM W (b) T BITN NEH
(d) All of the above ©STFIRIAMEH ~  (d) IR ot
6. Polythylene glycol is commonly used for : TR TEISDIE SR M g
(a) Producing androgenic haploids ¥ . el &Y mf;g]éﬁgru%
(b) Inducing mutants . : ‘ (@) 33” & 3, I.[Ii 4
{_{eyProtoplast fusion (b) mﬁaﬁ IRT &= & o
(d) Protoplast culture (c) Sltases wier & forw
7. A......is an excised piece of leaf or stem tissue (d) Slageres Hae & forw
used in micro propagation : i Wﬁ%m&nﬁmaﬁmﬁﬂ
(8) Medium , SV febet 31T &, o v L
‘ L/gg?fg;:;;;nt : (a) Mz T (b) Rt ,
(d) None of the above - , (©) CeRTie (d) IR # F e 78
8. Somatic hybridization is achieved through : 8. W SHartor e o oy - /
(a) Grafting (a) mitkeT & gRy A ‘
{_(byProtoplast Fusion (b) MEARE & T2 $ Ry
(9 Conjuga“OE (©) BFRF B gRT
(d) All of the above (d) TR F : ”
9. Which yector Is mostly used in cop 9. Y oy araj:fhfma 9 % e 5 |
(a) Plasmid osmi 4 _ o & :
(c) Phagemid L(d¥Agrobacterium . 8 Nl Eg; CHIRES
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10. Somaclonal variations are the ones :
(a) Caused by mutagens '
roduce during tissue culture
(c) Caused by Gama rays
(d) None of the above
11. To obtain haploid plant we culture :
L(a)}Entire anther (b) Nucleus
(b) Embryo (d) Apical bud
"12. A medium which is composed of chemically:
defined compound is called :
(a) Natural media
Ly Synthetic media
(c) Artificial media
(d) None of the above
13. Cybrids are produced by :
(a) Fusion of two different nuclei
((b) Fusion of two nuclei from same species
Nucleus of one species but cytoplasm from
both parents :
_ (d) None of the above
_14. Synthetic seed is produced by encapsulting
somatic embryo with : '
(a) Sodium chloride  (b) Sodium acetate

(c) Sodium nitrate L(.d)fSodlum algmate [_—
15. The production of secondary metabolltes require

the use of :
(a) Protoplast - {_pyCell suspension

"(c) Meristem * (d) Auxillary buds
16. Who is the father of tissue culture :

(a) Bonner .

{_(byHaberland 5 .
(c) Laibach ' :
(d) None of the above

17. Growth hormone producing apical dominance

L,(a)—Auxin- (b) Gibberellin
(c) Ethylene (d) Cytokinin
18. Tick the odd one :
(@ YAC  (b)YIP (c)BAC L,(d)’BCG
19. Which one of the following is not correctly
match ?

(a) Methanogens-Biogas
(b) Yeast-Ethanol
(c) Streptomyces-Antibiotic
LdyColiform-Vinegar
20. Plant cell can be converted to protoplasts by
treating them with :
(a) Cellulase
ellulase + Pectinase
(¢) Cellulase + Pectinase + Lipase
(d) None of the above

1.

12,

13.

14.

15..
| 3agadal Bl g-

16.

17.

19.

20.

 (a) wipfas Hifsan

(c) eférei=

R Droam toppen

10.

Amraeee faftrrand &-

(a) S weTo & &t &

(b) e e & AR I BNl &

(c) T faor & B &

(d) IR H A P 8T

AP UTey Y T B o fore & A o §-

(a) TUt WA (b) Gferad

(c) Hor (d) BreR &t

mﬁ%maﬁmmﬁaq&wﬁaaamwm

&, Heamr &-

(b) RAfes Afsam

(c) Bhm Higan (d) IR & J B

iy ter fooe o &-

(a) & Pt =gfaeTardl &l Sig |

(b) U A S & 2 feerad! B e J

(c) =freTa U Al T Qifc ofiaeed aFT SdT
- .

(d) IR BE |

ST ST - :

(a)-ﬂ\%mm (b) ifEaH v=ice

(c AfdTm AR (d) Hifsam dfese
fedas fediageE @ IaH A & e

(a) WeTERE &t (b) PR TR DI
(©) TRIRH T (d)m&?raaﬁra%
Fdd® GaYT & D DI 87 -

(a) SR (b) eReis 7
ChcEa (d) IR F F B &
gfe emf i RRER menfaer 3aw e 2-
(a) 3iifeR= (b) forarfem

(d) TECIBIEA
31T aTey @ fHer= eme-

(@ YAC  (B)YIP (c)BAC
PRI Rem eadr .
(a) WerRr-STaNiRy (b) Bree-udeite
() RS- tdariR e (d) Sieien-Rrar
mﬁﬁmﬁaﬁmﬁmmm?m
B T e Sy -

(a) Aot ¥

(b) ¥qerst + AT A

(c) VFegerat + Yfeeyat + RS

(d) IR F ¥ B el

(d) BCG
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21. Plant genetic engmeerln%\‘cludes
(a) Isolation of foreign DNA
(b) Introduction of foreign DNA
(c) Expression of Foreign DNA in plants
\__(d)-ATl of the above
22. Which scientist developed haplo:d plants from
anther for first time ?
(a) H. Khorana
(b) J. C. Bose
(c) Swaminathan
L%,Guha and Maheshwari
23.—Genomic library consists of :
(a) Gene related books:
(b) RNA fragments -
{_teyDNA fragments
(d) All of the above
24. Whatis sterile culture medium ?
(a) Hydroxyl radical medium
L_¢yA medium containing no living organisms
(c) A chemically defined medium
(d) A moisture-filled medium
- 25. Hormone pair requnred, for -
differentiate is : s
\_(arAuxin and cytokinin- "
(by Auxin and ethylene
(c) Auxin and gibberellin -
(d). None of the above
26. Exchange of germplasm.i |s ‘carried through shoot
tip culture because they are =
“(a) Smal( and handy-... -
(b)Yrus free. -~ .7 '
(c) Genetlcally stable W o

’ ‘.ﬂ,(

(d) Costwise low 2 275

27. Callus produced- on expl’ants in. plant trSsue"_ ,
b "7,

culture is mass of .. .
(a) Unorganized and dnfferentlated cells

(b) Organized and differentiated cells
\_{e}dnorganized and undifferentiated cells
(d) Organized and undifferentiated cells
28. Which of the following |s not transgenlc plant ?
(a) Golden rice -
(b) BT cotton :
(c) FJavour-savour temato.- -
Lfd)/NJone of the above ~ =+ -
29. Which process is used. {0 insert normal genes
into human cells to' correct dlsorders ?
Gene therapy -
(b) Live vector vaccines ..
(d) Molecular cloning :
(d) Stem cell therapy

a callus to

22,

23.

24.

w %

(3 3iffre vd AR

(a) Td. T

. (a) IR &), T, U. BT JATHIT
(b) aTEdy &Y. T, U @I Haw

(c) ared 3 @1 el A Jiftraafaa |
(d) JuRvereT THI F
W%ﬁqﬁaﬁm#gﬁﬁamdmmm

?

: (b) 3. &Y. A=
(c) @AM (d)'{Ingaqggaﬂ
ﬁiﬂﬁﬂagﬁmwa’m%_

(a) 3N Tl fparal &

- (b) 3R. . ©. iy d

(©) &I uA. u e

(d) ST ¥t |

st gl Ameem @ &2

(a) ETESiTavTar M3der Aream

(b) ATegw 5% o Sffaa SE T &
(c)‘\fmraﬁaqﬁmﬁaqu

(d) . qof wrezm
gﬁwﬁaﬁé’rshémﬂﬁma%um%—

. (b) 3R e ol

(c) 3iffova vd foarfer

" (d) IR H I BI5 T8

;28

,imﬁmﬁmﬁéﬁus@'%qwam
,g_m?r%aa’r%ég’l?f%‘— ‘
'»(a)t?l%ﬂg?#m
(c)mrgaﬁrﬂanaw (d)*qamaréf
'mmﬂaﬁaﬁwwmmm%

(o) R

~(a>wr%m¢hﬁmmmm o

28.

29.

- (c)enfoas deif

(o) < iR i S o

(c) S i SRR SR @

- (d) T stk R BeEil &

T 3 i o= dter e £

(a) TieaT <ITael (b) 0 S0 T
(C) PITR-ITR-TACY (o) SR 3 R

Wﬁﬁrﬁmﬁﬁﬁmﬁaﬁmﬁ
wﬁmaﬁaﬁaaﬂ&faﬁmmm%‘?
(a) 3T R (b)s?lﬁaéaz“\”q‘?ﬂ'!‘ﬁ
(d) T Pifdrer R
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30. Hybridoma technique is used to prepére
u;)Monodonal anitobody
““(b) Antibiotics

(c) Antigens
(d) All of the above

31. Which one of the following has its own DNA ?
(a) Nucleus only (b) Mitochondria only

(c) Chloroplast only [ ()4t of the above
32. DNAis a polymer of :
ey Nucleotides (b) Nucleosides
(c) Pyrimidines (d) Purines
33. Which type of RNA has a structure resembhng

clover leaf ?
(a) rRNA (b) MRNA
UertRNA (d) hnRNA

34. Which of the following statement is not correct
for BDNA ?
(a) The coiling of double helix is right handed
(b) The diameter of helix is 20 /
" (c) Ten base pairs-occur per turn
|_(d)-Bistance between two uncleotidesis 34 A
35. In DNA replication double stranded DNA is
converted into smgle stranded DNA by x
enzyme :
(a) x is DNA primase * -
(b) x is DNA polymerase
tcyx is DNA helicase
- (d) None of the above
36. Which of the following IS not the component of
mammalian Ribosome 2
(_{2}80S, 30S, 16S rRNA
(b) 60S, 40S, 18s rRNA"
(c) B80S, 40S, 28SrRNA .
(d) 608, 40S, 5.8S rRNA

37. Synthesis of mRNA molecule is termlnated by.- '

.......... factor.
| (a)Alpha  (b) Sigma (c) Beta L(,d)tho
- 38. Termination codons are :

(a) AUG, UAG, UAA (b) UAA, UAG, UGAL—

(c) AUG, UGA, UAA (d) None of the above
-39. rRNA is synthesised.in which of the following ?
(_(a}Nacleous "(b) Cytoplasm
(c) Nucleoplasm (d) None of the above
40. In DNA a base is combined with a sugar by .........

bond.
(a) Hydrogen (b) lonic
(c) Sulphide L4eh-Blyosidic

41. The initiation codon in eukaryotes is :
L(aAUG  (b) UGA (c) UAG (d) UAA

Best E- Ie.arhmg Platformm——— —

© 30, mammasmaamma-
31.
32.
33,

34.
' (a) fEmfora efera o puselr 2l 3R B &

35.

- 36.
37,

38.

40.

41.

(a) Uepr

(a) Uil wferelt Y (b) St B '
() sifersrit @t (dy FRvarer Y-

Ryt & 3 Riserdt add @1 &), U4, U arar S &

(a) Bae gaeiaw i (b) Pae ABCIHIZT ¥

(c) et FeRERe | (d) IRmEa 7 ¥

&), U7, U, 9ga® el 8-

(a) feericTssl &1 (b) fTANTEET &

(c) fuRfafeT &t (d) =T &

BH- AR, U4, U. & JBR Pl T qalaR g 3=y

&
(a) IRNA (b)mRNA (c)tRNA (d) hnRNA

Y eF-TTHUT . U9, U S IR T a2

(b) &fereT o dISTs 20A &

(c) U g & ¥ o 5013 A &

(d) 2 ferdierss & &g § 34A & g0 A &
1. o9, v faom #-fEfora € us & ved wus A x
TAEH Factdl 8-

(@) x & T T m'sﬁsr%‘

(b) x &, T U. diciRat &
(c) x &Y. T. U. EelihaT &
(d) SR F Y P TE

‘_ﬁwﬁﬁmmmmmaﬁ# |
(a) 60S, 30S; 16S rRNA

(b) 60S, 408, 18S rRNA
(c) 60S, 40S, 28S rRNA

. (d) 60S, 40S, 5.8 STRNA

MRNA &1 G0 ...... U b GRT TG ardl 8-
O R @& (@
gaIfta e -

(a) AUG, UAG, UAA (b) UAA, UAG, UGA

(c) AUG, UGA, UAA (d) IRIed | ¥ 31§ &l

. = % 3 fet rRNA &7 Heeigor gar &2
(a) =fereTaie (b) TTEIEATSH
(c) aferraieTsH (d) IR F I P &
&Y. T, U. ¥ U o U T & JEAE .o CR)
5 : .
(a) ETSZISH (b) 3T
(c) WchISS (d)
q&sﬁmw 3 g P &l 8-
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42, Genetic codon is Y. ?(E Best E-learning P'Iatfoaﬁll m H%BT:T g—_ |

(@) Non-ambiguous
(c) Degenerate
A nucleoside is

ase + Sugar
(b) Base + Phosphate
(©) Sugar + Phosphate
(d) Base + Sugar + Phosphate
44. Which arm of tRNA has loop containing 8-12
bases ? ‘

(@) Ribosome binding arm

(b) Anticodon arm

L(e)’UHU arm
(d) Extra arm

45. The core enzyme of E-coli RNA polymerase
consists of the following subunits :.

(a) B'B,v G,(lz lB’v(vam
(©)B.B, o0 @dB oo
46. Genetic code is sequence of nitrogenous bases

on: :
L(ayMRNA  (b) tRNA (c) rRNA (d) DNA
47. 5'cap and 3’ poly A tail is found in -
(a) tRNA (b) SnRNA
(c) hnRNA _(dymRNA
48. Who discovered the entire genetic code ?
(a) Nirenberg (b) Ochoa
(c) Khorana Crick
- 49. According to Wobble hypothesis :
(a) First base is unstable
(b) Second base is unstable
ird base is unstable
(d) None of the above
50. Messelson and Stahl conducted their
~experiments on : |
E-coli (b) Vicia faba _
(c) Drosophila (d) Bacteriophage
51. The promoter site in eukaryotes is :
TATA Box (b) DPE
(c) BRE (d) Pribnow Box
52. Amino acid binding site of tRNA is :
CA 3'end (b) 5’ end
(c) Anticodonloop  (d) T ¥ C arm
53. Which one of the following is not a secondary

(b) Not degenerate

L(g)-Both (a) and ()

43,

messenger ?
(a) Ca++ (b) Cyclic AMP
() IP, lucose

54. Which one of the following antibiotic .inhibit
_pratein synthesis in prokaryotes ?

icilli b) Cephalosporin-
(a) Penicillin ( |
(c) Bacitracin Lgﬁﬁkacydujes

.

43.

44,

45.

- 46.

47.

48.

49.

. 50.

51.

52.

53.

54,

—

(a) f-xifRrer (b) STECTRE T
(c) 3genfra (d) (a) T (c) Arit

v Yferrarargs e a-

(@) & + T (b) 8T + BRWT
() IGRT + BIRBE . (d) & + T + BT
tRNA &Y BI-Y 43T % 8-12 49 aetT o[g &l
(a) YA 3MMEE YT (b) WP =T
(c) DHU s (d) BTeTq 33T
$-®Ie3 3R, T, U. UlciRsl & BR TR
frreferiaa susmmat Erd &-

(@B.B', o a5 (b) B,B’', x o,

(©)B,B. oo (d)B, oo, c

SHed P13 ABG oMY ST & HH 39 | -
(@) mRNA (b)) tRNA (c) rRNA (d) DNA
5"y 3iR 3’ ety A e URYY Y -

(@) tRNA & (b) SNnRNA F

(c) hnRNA (d) mRNA %

ol SHicE I8 &) Fist Roa &9

(a) IR (b) iR (o) TRAT (d) oo
dieer ERURIRT & T ER-

(a) W2 & SRR Brerr &

(b) f&Ta &=7 SRR Brar &

(c) T S SRR S

(d) IRTT F P 7R
-ﬂ%ﬁqsﬁzﬁmﬁmm%ﬁe‘r—

(a) $-DIeTE W (b) TRy wrar
(c) I W) (d) SFRIRAMB3T |
qésﬁmaj\j 4 Hiee e #-

(a) TTeT dieT (b) . @, €,

(© &, 3IR. §. (d) eeitT dfey
tRNA @1 01T 2R18 &1 affery aredt s -

(a) CCA 3 1 )5 R=r

(0) WD T™@ () Ty C g1

fFreer 3 & B fidiae weerares w9 &2

(a) Ca++ (b) Cyclic AMP

(© 1P, (d) Tegeprst .
e Bl trdeiRs Bde g
MBRANTES ¥ Ay &2

(a) Ufnfuferm (b) RreairaiR=
(c) SRR (d) grRTgTaeH
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55. Which one of the following feature is not correct

56.

57.

58.

59.

60.

61.

62.

63.

64.

o R ——

M\_E&L&Iearm'nq Platform

about Penicillin ?
(a) First anitbiotic
(b) Obtained from fungi
(c) Inhibit cell wall synthesis in bacteria
Iso inhibit DNA synthesis
The initiation codon AUG codes for which amino
acid ?

(a) Serine (b) Lysine
(c) Tyrosine L@Methionine

RNAi stands for :

(a) RNA inducer (b) RNA insertion
_(e)RNA interference (d) RNA intron

Which of the following acts as the inducer of Lac

operon ? v
(a) Galactose _gsyAllolactose
- (c) Glucose (d) Lactose

The sequence of the  structural gene in Lac
operon is :
() Lacz-Laca-lacy
(b) Laca-Lacy-lLacz
(c)Lacy-Laca-lacz
Ldrtacz -Lacy - Laca.
In prokaryotes during transcrlptlon the IF2 binds
to:
(a) Ribosome and mRNA
'(b) Aminoacyl tRNA and ATP
ifiator tRNA and GTP
(d) mRNA and 30 S subunit of the rlbosome
Which one of the following enezyme catalyzes
the formation of cAMP from ATP ?
(a) ATP phosphorylase
(b) AMP synthase
\_(cyAdenyl cyclase

(d) None of the above

called as :
\_(ayOkazaki fragments

(b) Leading strand

(c) Lagging strand

(d) None of the above

First record of transposable elements ' from

maize was given by :

(a) Morgan (b) Sutton

(c) Muller cclintock

The RNA transcript functions directly as the

mRNA molecule for translation. Thls is true for :
\-(GTFFGkaryotes

(b) Eukaryotes

(c) Both (a) and (b)

(d) None of the above

In DNA replication discontinuous segments are 3

55.

56.

57.

58.

59.

60.

81,

Ry o @ et T AR 5 AR <y i
(a) o YT -

(b) TaH 2 I By &
(c)aaaﬂmﬁaﬁﬁmﬁ:ﬁrmmma

(d) &, T, €. eror o el &
mmAuemmmamm

#?

(a) 9= (b) FEE

(c) TR (d) Prferar=
RNAI & aad 8-

(a) 3TR. TA. U. FUETR

(b) 3IR. T, U g9

(c) IR, TH. U. JUCIWBRA

(d) 3R. T. T. 305
ﬁﬂﬁ%mwwsﬂm%%umam

T &7

(a) TctaeTa (OLGEIEEHE]
(c) TP (d) ceerst
de R § WA S & B 8-

(@) Lacz-Laca-Llacy
(b) Laca-Lacy-Lacz -
(c)Lacy-Laca-lacz
(dLacz-Lacy-Laca

wibRaes ¥ grafbed & SR IF2 Shear 8- |
(a) TZEH 3R MRNA &I
(b) UNREAEE tRNA 3R B, &1 @), &1

- (c) TR™ & 91 tRNA 3R 37, & & &

(d) mRNAsﬂ-\ruga‘mma?rsosvaqﬁza
FETIsR-weeEae & @ @rmsﬁﬂaﬂz

L N s P AR aRar g

62.

63.

(a) . &). 9. BEpRerst (b) B e @ R
(c) Meer AEderst . (d) IR H A B TR
3. A U. fEuM ¥ SIeRaR | &Y Sed 6
(a) SiPTaTTY ST (b) SIS Rus

(c) difimr oz (d) IR ¥ A B T

 GIRTATSTET TeRieH Y Hah! ¥ wdwem e Rars

T er?
(a) #ifT
() geR

(b) e
(d) AHfETCid #

. ¥R . U giefee MY mRNA o1 B E

GIRTeeT ¥ BRf g1 T8 W 2
(a) SrbRadrem & R (b) ZHRARH S fere
(©) (@) T (b) 2T (d)mﬁ%'ﬁ??ér
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67.

68.

69.

was demonstrated by :
esselson and Stahl
(b) Taylor and Stahl
(c) Taylor only
(d) Messelson only -
A DNA sequence that can change its position
within the genome is called as :
(a) Plasmid
O} Transposable elements
(c) Cosmid
(d) Exon
In prokaryotes protein synthesis initiation takes
place at ribosome binding site. This site having
following features : '
(@) AUG codon (b) SD sequence-
oth (a) and (b)  (d) None of the above
The eukaryotic mRNA binding to the ribosomes
is facilitated by : '
(a)tRNA
(b) Poly A tail
(c) SD sequence. - W
methyl guanosine cap

70. Which of the following release factor (RF)

\_AcrRF2

. recognizes stop codons UGA and UAA ?

(a) Sigma factor (b) -RFI

(d) RF3

-71. In translation 'proces:s the activat_ion enzyme for

activation of amino acid is :

L,(aTAminoacyI synthelase

" (b) RNA polymerase

" (c) Peptidyl transferase
(d) None of the above.

72. Which of the following statement is correct about

the elongation of the lagging strand during DNA
replication ?
(a) It is synthesized in 3' - 5’ direction

(b) It grows towards the replication fork

\_{eHt requires a short RNA primer to proceed

73.

i i tinuously
d) It is synthesized con :
'(I'h)e measurement of 34 A in DNA molecyle

refersto :
(a) Diameter
(c) Helix rise

elix pitch
(d) None of the abiove

_ “—mm_l;zm_

66.

67.

68.

70.
71.

i2.

73.

(€) (2) & (b) it

<1850 Which of the following is/afe refiiiel 16 UrwiddE s fsy A - &l . o g e My
- and stabilize the DNA intd fwo single strands ? 1 Rer @y & ferw afe?
(a) Singlé strand binding protein (a) Uas G TR e et M
(b) Helicase b) 2eibaT
(c) None of the above . :
66. Semiconservative mode of replication of DNA (d) JuRTeret 3 I DBIg AT

8. . U %'@WW@WM
]m]‘_

(a) HRIRT vd I gRT

(b) TR Td TCIel GRT

(c) BaeT SR ERT

(d) Pact R gRT

U €I, UA. U. 3HH 3 O ST F 30 s
§acT Al &, PEdld a-

(a) whfsHE (b) TRad=Ne dea
(c) B, . (d) T
BRI & I 0T Bl TR TZaRi 5

35 BN STE BIT 81 3 5718 & e oT Ay &
(@ Uu. g 5 ®EE  (b)uE. &omy
(d) IR H F DS 78
q%ﬁu\ﬁmmRNA-rmnwéaﬁﬁgﬁtnéa
& _

(a) tRNA |
(©) 4. &1, &1

o 3 < i Ryaré
PIEH BT Tl &2
() R o2 (b) RFI (c) RF2 (d) RF3
GRICTeT Wfiba ¥ i swel @ wfvear B

(b) tﬁ??rt‘éa

(d) 7 st iR &
Hedh UGA 3R UAA Tq1f

 faex &=

| ST (d) SREa § 3 B @
e ] feaort <R ST wvg 3 et
TR o 3 Y - o w2

(a) T& 3" — 5" foam ¥ el gy 2

(b) T foTort i oY 3k g
(C)ag_gé;%v@r%momouoma%mm
(d) T i Weeifre v
é’r.uw.v.ﬁaﬂmmaﬁqﬁg\_

(@) s 3 O R
OFTRITERX () v 4 v
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74. RNA dependent DNA polymerase s :
verse transcriptase
(b) RNA polymerase
(c) DNA polymerase
(d) DNA helicase

75. Proteins that block the passage of RNA

polymerase are :
(a) Operons (b) Promoters
(c) Inhancers epressors
76. When RNA acts as an enzyme is known as :
(a) Apoenzyme (b) Isoenzyme

Ribozyme (d) Coenzyme
77. Which ofthe following is called amber ?
(a) AUG (b) UAA
\_(eyUAG (d) UGA
78. Which of the following is precursor of mRNA ?
(a) SnRNA {_(bHmMRNA
(c) tRNA (d) rRNA

79. A nucleosome is :

" \_4a)Protein-DNA complex

(b) Protein-RNA complex

(c) DNA-RNA complex

(d) All of the above

80. Sugar which is present in DNA
(a) Ribose sugar »Deoxy ribose sugar
(c) Hexose sugar (d) Triose sugar

81. To clone an insert of several hundred kilo bases
which of the following vector should be used ?

4ervAC " (b) pBR322

(c) puC18 (d) None of the above
82. The step is absent is a PCR cycle :
(a) Denaturation ub‘)’l'ermination
(c) Annealing (d) Extension
83. Vectors capable of replication in prokaryotic and
eukaryotic cells are called :
(a) Artificial vectors
Shuttle vectors
(c) Phiagemid vectors
(d) Cosmid vectors
84. An oligonucleotide is used to identify a nucleic
acid sequence is called :

!

l/(éflsrobe (b) Temglate
(c) Primer (d) Ampllcgn
85. Which of the following enzyme 1S used to join

fragments of DNA ?

L(ﬂ’fﬁl:lA ligase (b) DNA primase

(c) DNA polymerase (d) DNA helicase

74.

75.

76.

77.
78.

79.

80.

81.

82.

83.

84.

85.

- (@) 8. w9, v e

R, o, U, ik & o7, U diemRar &-
(a) SRR gRIfARST (b) 3. . U. Uicima
(c) &Y. U, ©. dfeirat (d) 8. T, U. el
WRT 3 3. U U, uieinRat @ fobar @ dady

&

(a) 3 (b) geeA

(c) Se=RT (d) R

3/ 3R, U, U. U U=gH &I & &1 e &,
wHeel 8-

(a) THIT=STEH (b) ATBATSTTZH

(c) IrEaSEH (d) PIT=TEH

fore ¥ BH-T 3R BRI &7

(@) AUG (D) UAA (c)UAG (d)UGA
B 3 A BIF-IT mRNA &I 3R 22

(a) SNRNA  (b) hnRNA (c) tRNA (d) rRNA
=faerdkid &=

() -, . U, e

 (b) WEF-3R. . U. Hciad

(c) 3. T, T.-3R. TH. T DHIMetad

(d) FRrad TH |
N . v T 3uferd I 8-
(a) TaTST IERT (b) STl AT TS

CEGIERIERY (d) TS AT

% <t foet ¥ & e o et 5% & fore A 5
J -1 TR WA AT AMfRe?

(a) YAC (b) pBR322

(c) puC18 (d) IR ¥ F B &l
s Mo 0 31RO T & R TE el &~

(a) Ripdiaxur @1 - (b) I BT

Reeidper & & drd &, e a-

(a) Phw daT (b) & AT

(c) Wi daex (d) DR AR

v shferigfaeiaieigs &t i <jfded WIS &
3 TeTeH & fore fasan sian &, SecTar 8-
(a) SiT@ (b) 2ARE () IR (d) LAl
Pt % Q) Ple-a1 woTew 91.0A.U. & W Y SsdT

&
(b) &Y. T, T AEHST
(©) & va. v, dieieet (d) 8. T T IG]
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© 86.

88.

89.

90.

91.

92.

93.

94.

95.

—
RNA splicing takes place in : | e 8l £ '
(2) Cytoplasm N (o) =gfeerere 3

Nucleus (@) ¥ (dIBEREAHT
(€) Endoplasmic reticulum (c) vogierfames Wrger H SadnT
. (d) Ribosome . 87. UieRaT g@ell aiffssan P! FEiD e,
- Polymerase chain reaction is most useful in : (a) 310 TH0,TO igerTor H
(a) DNA synthesis ef 3 : /
il (b) €10 €0 UO Y@
NA amplification S Geeror i !
() Protein synthesis (©) N
(d) Amino acid synthesis (d) & ef¥rs ﬁ »
Alcoholic fermentation occurs in the presence  88. Urrgies fpvas ey sufuf # €l &
of: - (a) AR (b) FFHA |
(a) Maltose _(yZymase (c) ZadsT OLLIERE]
s\:l) Invertase _ (d)Amylase 89. o A PH-u1 v H3-3RB & &7
hich of the following is not a biofertilizer ? hFe‘ e b) SReiH
(a) Rhizobium (b) Nostoc Niss| . (b) N
(c) Mycorrhiza {_{hAgrobacterium (c) BadD et (d)
Appropriate organism for single cell protein  90. Ul DIITHI MM IaTE & ITgad e 8-
production is : - (a) aEARET (b) RTEDIerT
(a) Chlorella (b) Spirulina (©) (d) IR T :
(c) iE= All ofthe above 91. e & 9 B doe W B v &
Which of the following technique is used for ' &1 ST 22
identifying proteins ? S ool -
(a) Eastern blotting ¢ty Western blotting (@) 5‘53 i ?’Eum,\a ' (b) F¥e Ev"i.a I
(c) Northern blotting  (d) Southern blotting - (c) ie iffeT (d) e+ ffe
Restriction endonucleases was discovered by :  92. yfider eoeufdewat & @y af Ty o= -
(a) Waksman . (a) AT ERT (b) TITRIUER T N
(b) Ale?;i"dec; ;'if:m'"g (c) A 3R 17 g7 (d) &5F gR
@ Ber'g R R 93. 7= % 31 B-71 07 pBR322 ¥ T wrar s &
Which one of the following character is not found (a) DRI ¥HE v |
in pPBR322 ? (b) Mgae™ 1|
os site (c) e s nfeRIes Kl
(b) Restriction sites (d) feaUm @ e
(c) Antibiotic resistance genes 94. TiwioHs S Uray qereR % W ¥ wan R G IE
(d) Origin of replication fiyerar 2-
Ti plasmid that is used as a plant vector is R AR
obtained from : (a) e v . |
L A&y Agrobacterium tumefaciens (b) ' VST
(b) Agrobacterium rhizhogenes (c) eniRy baieaT |
(c) Thermus aquaticus (d) §-BeTs
(d) E-coli - 95 wERR wERIfeeeS v ery-1l @)y g
Restriction  sites of Type-ll restriction Wge- S
endonuclease enzymes . (a) \TTE: Yferg g
(a) Generally aré palindromic sequences " (b) TR W B ¥ IR a_i' a2
(b) Consist of ‘;-?bt;r’ (©) (@) T (b) A
n .
Ginie (o) IR 3 g

Dhroam toppor

Best E-learning Platform

(d) None of the abové
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g6. Which of the following is not required for a PCR

Best E-learning Platform

o6, et 3 2 R B0 €0 R0 Fsa 3 R s

reaction ? .
(a) Taq polymerase ?:?g e
(b) Primers (b) STEFRA
Ly Dideoxy nucleotides d) SESBITRY fediecrga
97. To prepare cDNA library cDNA is formed from g7, E:D)NA el D1 R @ F mRNA & cDNA
mRNA by an enzyme: ) mm% mmm_
\_(ayReverse transcriptase (a) Radf ;-,-\qma
(b) DNA polymerase (b) . TF. T. G
(c) RNA polymerase (c) 3R. T4 U.
(d) DNA'ligase . (d) D, T T T
98. Uptake of naked DNA by an bacterium cell is  gg  dqiRem BIf¥Tes! GRT 7 510 €0 U0 P U0 ST
called : ' HEETT &
: ransformation  (b) Translation (a)m (b)m
(c) Transduction. (d) Conjugation g () B
99. Tr§n§genic plant flavour-savour tomato carries 99. WWWWWWWW
artificial gene for : 5 o
- fore < @
(a) Delay ripening process (a) R 3 ey B R & o
(b) Longer shelf life (b) e TS T & e
(c) Added flavours (c) H a ¥ B
Lyl of the above (@) TR T
100. Which of th_e following is not involved in human 100, Rrefoifad 3 & ﬁqmqﬂa N
gene mapping ? Pt .
(a) Rgs‘triction endonuclease (a)%ﬁ?(_c'ﬁm Eﬂg‘l?:lfdﬁl?a
(b) Linkage (b)%‘&‘a—af ‘
- (c) Genetic marker : .
(c) STFIRTS D
A RIA (d) 3TR. TH. T
_ Answersheet ! ;
T o 2@ 30 4@ 50 6@ 7@ 80O 8@ 1.0
1. @ 12 () 13. (© 14. (@ 15. () 16. () 17. (@) 18. (d) 19. (d) 20. ()
2. (@ 22 () 23. (O 24 (b) 25 (3 26 () 27. (c) 28. (d 29. (@ 30.
31. (d) 32. (@) 33. (c) 34. (d 35. (c) 36. (a) 37. (d) 38. (b) 39. (a) 40. (d)
41. (a) 42. (d) 43. (a) 44. (o) 45 (b) 46. (a) 47. (d) 48. (@) 49. () 50. (a)
§1. (a) 52. (a) 53. (d) 54. (d) 5. (d) 56. (d 57. (c) 58. (b) 59. (d) 60. (c)
61. (c) 62. (a) 63. (d) 64 (a) 65. (c) 66. (a) 67. (b) 68. (¢ 69. (d 70. (©
71. @ 72 (© 73. () 74 (a) 75 (d) 76. (c) 77. (c) 78. (b) 79. (a) 80. (b)
81. (a) 82 (b) 83. (b) 84. (a) 85 (@) 86. (b) 87. (b) 88. (b) 89. (d) 90. (d)
91. (b) 92. (c) 93. (@) 94. (@) 95. (c) 96. (d) 97. (@) 98. (@) 99. (d 100. (d)

@\
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